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1. Introduction
An open issue was identified and included in the “List of Open Issues” [1]:
5.3.1
DL Assignment reception
[Issue 5.3.1-3]
RAN1 should confirm whether the DCI for BCCH may not include RV. If there is a case that DCI is not included (as in LTE), the procedure to determine RV (e.g. based on SFN and subframe number) (as in LTE).
This contribution will discuss how to determine the RV for TB received on BCCH in NR Rel-15.
2. Discussion
In LTE, there are two DCI formats with CRC scrambled by the SI-RNTI to carry scheduling information for System Information, as follows [2].
Table 7.1-1: PDCCH and PDSCH configured by SI-RNTI
	DCI format
	Search Space
	Transmission scheme of PDSCH corresponding to PDCCH

	DCI format 1C
	Common
	If the number of PBCH antenna ports is one, Single-antenna port, port 0 is used (see subclause 7.1.1), otherwise Transmit diversity (see subclause 7.1.2).

	DCI format 1A
	Common
	If the number of PBCH antenna ports is one, Single-antenna port, port 0 is used (see subclause 7.1.1), otherwise Transmit diversity (see subclause 7.1.2).


In DCI format 1A, the RV field is defined. However, in DCI format 1C, the RV field is not defined and therefore, the RV is determined according to the SRN and subframe number, which is specified in MAC as below:
-
if the redundancy version is not defined in the PDCCH format:

-
the redundancy version of the received downlink assignment for this TTI is determined by RVK = ceiling(3/2*k) modulo 4, where k depends on the type of system information message: for SystemInformationBlockType1 message, k = (SFN/2) modulo 4, where SFN is the system frame number; for SystemInformation messages, k=i modulo 4, i =0,1,…, nsw–1, where i denotes the subframe number within the SI window nsw;
In NR, for the scheduling of PDSCH, only DCI format 1_0 and format 1_1 are introduced. Both formats include a redundancy version field.  Therefore, RV can be always provided by the DCI explicitly, not deduced from any subframe number or slot number without impact on current specification. 
Proposal 1: NR MAC does not need to define the procedure to determine RV for BCCH, as it will be provided by the DCI.

3. Conclusion
In this contribution, we discuss how to determine the RV for TB received on BCCH, and we have the following proposal:
Proposal 1: NR MAC does not need to define the procedure to determine RV for BCCH, as it will be provided by the DCI.
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